MoroaxeHo 3 MK:

Onbra BITOWKMHCBKA.

PO3K/TIAL YPOKIB HA Il CEMECTP 2024-2025 H.p.

3aTBepaxylto:

AnpekTop wkonu:

Hatania KOJNTELLYK

1-A 1-b 1-B 2-A 2-b 2-B 3-A 3-b 3-B 4-A 4-b 4-B
0 IHA(di3.K.) YKp.moBsa(l) AOC(yKp.m.l) IHa(di3.kynbT) | O
4 1| A4c A0cC di3.KyNbT. Ykp(l)/aura(ll) | A4C(ykp.m.l) YKp.moBa(l) YKp.moBa(l) YKp.moB.a(l) Ykp(l)/aurn(ll) | A4C A0C a0C 1
o 2| A4C(ykp.m.) | Matem. Anrn.m.(1,11) A0C A0C 2Vile Yp.cTan.po3s. | Mys.mucT. A4C Yrp(1)/AAC(ykll) | Ykp(l)/anra(ll) | Martem. 2
9 3| Matem. AHrn.m.(1,11) A0C My3.MmucT. Martem. ®i3.KynbT. A4cC A0C di3.KyNbT. Yrp(I)/AAC(ykl) | MaTtem. O6p.mucT. 3
I 4| Ykp.moBa YKp.moBa Matem. Yrp(Il)/anra(l) | Yrp(l)/anra(ll) | Matem. O6p.mucT. Matem. Matem. Martem. di3.KyNbT. Yrp(l)/aura(ll) | 4
Hs ®i3.KynbT. YKp.moBa Ykp(Il)/anra(l) | Ykp.mosa(ll) Matem. Di3.KyNbT. Ykp(ll)/anra(l) | Ykp.mosa(ll) AOC(ykp.m.11) | Yrp(ll)/aura(l) | 5
6 AOC(ykp.m.1I) YKp.mosa(ll) Ykp.moBa(ll) 6
0 Ykp(l)/anra(ll) Ykp(l)/aura(ll) AOC(ykp.m.l) 0
1| Pis.kynbT. A4cC A0C AOC(ykp.m.1) A0C(ykp.m.1) YKkp.mosa(ll) Yrp(ll)/anra(l) | AAC(ykp.m.l1) YKp.moBa(l) Ykp(Il)/anra(l) Ykp(ll)/anra(l) | Ykp.mosa(l) 1
Y 2| A4C AAC(ykp.m.) AOC(yKp.m.) Ykp(l)/aura(ll) | Yrp(l)/aura(ll) | A4C Mys.mucr. A0C Yp.ctan.po3s. | A4C A0C A4c 2
g 3 | Martem. Martem. Matem. Ykp(ll)/anra(l) | A4C My3.MmuCT. di3.KyNbT. Ykp(l)/anra(ll) A4C Martem. Yrp()/ind.(I) | Matem. 3
= 4 | O6bp.mucT. YKp.moBa Annn.m.(1,11) Matem. Mys.mucT. Matem. Aac Matem. O6p.mucT. O6p.mucT. Yrp(l1)/itd.() | Pi3.kynbT. 4
o 5| Ykp.mosa YKp.moBa A4ac Ykp(ll)/anra(l) | IHa.(dis.k.) Pi3.KyNbT. Ykp(Il)/anra(l) Martem. AAC(ykp.m.11) | ®is.KynbT. 5
6 AAC(ykp.m.1) | AAC(ykp.m.11) | Ykp.moBa(ll) AAC(ykp.m.11) Ykp.moBa(ll) YKp.mosa(ll) 6
7 7
0 ®i3.KyNbT. Ykp(1)/ind.(11) di3.KyNbT. Ykp(l)/anra(ll) 0
1| A4C Aac A4ac AAC(ykp.m.1) YKp.moBa(l) Ykp(l)/aura(ll) | ®iz.kynbT. Ykp(l)/aura(ll) AAC(ykp.1) AOC(yk1)/iHd(Il) | Dis.kynbT. AAC(ykp.m.1) 1
P 2 | Avram.(LIl) | @i3.KynbT. YKp.moBa di3.KyNbT. 0O6p.mucT. A4c A4c Yp.cTan.poss. Mys.mucT. AAC(ykI)/ind(l) | Yrp(ll)/anra(l) | Pis.kynbT. 2
g 3| YKp.moBa AAC(ykp.Mm.) My3.MuCT. Ykp(l)/aura(ll) | ®is.kynbT. AAC(iHD.) Yrp(l1)/ind.(1) | Yrp(ll)/anra(l) Anc MaTtem. Aac Aac 3
&1 4| Aa0C(ykp.m.) | Anra.m.(L,11) Pi3.KynbT. A4ac A4ac ®i3.KyNbT. Martem. A4ac Yrp()/ind.(I) | A4C MaTem. Ykp(l)/aura(ll) | 4
4 5| ®i3.KyabT. YKp.moBa Ykp(ll)/anra(l) | Matem. Ykp(Il)/anra(l) Matem. Yrp(I1)/ind.(1) O6p.mucT. Ykp(ll)/anra(l) | 5
6 AOC(ykp.m.11) | Ykp.moBa(ll) di3.KynbT. AOC(ykp.1) AAC(ykp.m.I1) 6
7 7
0 IHA(di3.KynbT) AOC(ykp.m.l) Ykp(l)/anra(ll) YKkp.moBa(l) 0
1| Aa4ac ®i3.KynbT. a4ac YKp.mosa(l) a4c AAC(ykp.Mm.1) Ykp(l)/aura(ll) | AAC(ykI)/ind(1) | Yrp(l)/aura(ll) | Yrp(ll)/anra(l) ®i3.KyAbT. aac 1
al 2 | ®i3.kynbT. A4cC AOC(ykp.m.) A0C Ykp(l)/aura(ll) | A4C Matem. AOC(yKIN/ind(l) | Pis.KynbT. A4c 2ile Martem. 2
Y 3| IHa.(disk.) YKp.moBa O6p.mucT. Martem. Ykp(ll)/anra(l) | MaTtem. Ykp(ll)/anra(l) | A4C Ykp(ll)/anra(l) | Mys.muct. Matem. Yrp(l)/ind.(11) | 3
E 4 | YKkp.moBa My3.mucT. YKp.moBa di3.KyNbT. AOC(iHD.) Ykp(l)/aura(ll) | A44C Ykp(l)/anra(ll) di3.KyNbT. Martem. Mys.mucT. Yrp(ll)/ind.(1) | 4
5 IHA.(Pi3.K.) ®i3.KyNbT. Ykp(ll)/anra(l) | A4AC(ykp.m.11) | Ykp(ll)/anra(l) Matem. Yp.cTan. poss. YKp.moBa(ll) My3.mucT. 5
6 YKp.moBa(ll) AAC(ykp.m.I1) A0C 6
7 7
0 AAC(ykp.m.l) Ykp(l)/anra(ll) Aaac 0
1| A4cC aac di3.KyNbT. YKp.moB.a(l) YKp.moB.a(l) AAC(yKp.Mm.l) Ykp(l)/anrn(ll) | Ykp.mosa(l) AOC(yKp.Mm.l) Ykp(ll)/anrn(l) IHA(di3.K.) AOC(ykp.m.l) 1
o 2 | AHram(LI) | MaTem. a4c a4c a4c 06p.mucT. Aac a4c AAaC di3.KyNbT. Ykp(l)/anrn(ll) | A4C 2
E 3 | Mys.mucT. YKp.moBa Matem. O6p.mucT. Matem. Ykp(l)/anrn(ll) | Ykp(ll)/anra(l) | ®is.kynbT. Martem. di3.KyNbT. Ykp(ll)/anrn(l) | Matem. 3
H 4 | Martem. 06p.mucT. IHA.(Pi3.K.) Matem. di3.KyNbT. AAac Martem. Matem. Ykp(l)/anrn(ll) | A4C MaTem. Ykp(l)/anra(ll) | 4
O 5| Ykp.moBa YKp.moBa AOC(iHD.) di3.KyNbT. Ykp(ll)/anra(l) | A4C(ykp.m.ll) | O6p.mucT. Ykp(ll)/anrna(l) Ykp(ll)/anrn(l) | 5
6 YKp.moBa)ll) YKp. mosa(ll) AAC)ykp.m.I1) YKkp.mosa(ll) AAC(ykp.m.Il) A0C(ykp.m.ll) | 6
7 7




